NI3BH HEVDOHLIDVE i

MNIBEDDHBIDLOHE T ZE01l

|7 Y YN http://www.study-x.com
1. ROGHHEZLEL X 9,

1 710+-8= &2y 1533 +7= &3y 2935 +6= &1y
@29 +4= 53y 16 26 4= sz o 31 +=4= sz
@35 +8= s2y an 17 +-8= sz 6n3+2= sz

@4l +=T= sz a8 64 +-9= 53y 3249 +5= &1
5 19 +8= 5%y a9 15+2=" &3y 33 12+5= &3
© 37T+9= &2y ) ST +=T= s3v 644 +=5= ss
M 25 +3= sz ey 14 +9= s34y 65 24 +T=" 51y
® 47 +=6=szy @ 11 +3= 219 36 20 +6= 539
© 37T +5= sz @) 34 +4= 539 46 =T= &3
100 69 =T= &3y en 4l +=6= &3 3833 +9= 539
an 42 +8= sz 2536 +5= 539 9 31 +8= &30
a2 13+2=" sy 26 84 9= sz 4y 10+=3= 2y
13 33 +5= 531y @) 19+-6= sz an 22 +9= sz

(14 26 = 3= 53y 28 26 — 6= 51y @) 39 +-9= 3y



[Z272Z]

1.

Hm8HED 6
@07HEH 1
36 HEH 7
@wSHED 6
$»9IDHED T
©4HED 1
m8HFED 1
®THED S5
@97THED 2
W9 DHED 6
an5HED 2
26 HED 1
36 HED 3
8 HEH 2

a557HED 4
166 HFED 2
an9HED 5
a7 HE D 1
97HED 1
8 HFEH 1
enl HED 5
@3HFED 2
8 HED 2
6 HED S
27T HED 1
269 HFED 3
en3dHED 1
a4 HED 2

@9 HED 1
a7 HED 3
esnl HED 1
29HFED 4
H2HFED 2
a8 HED 4
53HED 3
3HFED 2
an6HED 4
®S5HED 8
m3HED T
w3 HED 1
an2dHFED 4
wdHED 3



